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Addition
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<

CENTURY SKILLS

Students of a dance group are performing at the school dance show, They need stars for
the final act. Match each child to the correct star to help thgm




ADDITION OF TWO-DIGIT NUMBERS

While adding if the number of ones is more than 9, then we regroup 10 ones as 1 ten and

then add. Let us look at some examples.

Example 1: The National Museum in New Delhi is one of
the largest museums in India. The students of Class 3
went on a field trip to the National Museum. There were
29 students from Class 3A and 33 students from Class 3B.

How many students went to the museum in all? g@t

Solution: To find the total number of students Kan)

who went to the museum we will add 29 and 33.
We add by writing the numbers one below the other as per their pla es.

®
T O Step 1: Add the digits in the ones place, 9 + 3 =312 "8ggs.
12 9 TEEEEREEE |+ BEE — > CODERREED| (1]
+ 3 3
—2 Regroup 12 onesas 1 ten a @e . Write 2 in the ones place
S and carry over 1 to the }éla .

T o Step 2: Add the digits in the tefg place, 1 + 2 + 3 = 6 tens.

+HE +
+ 3 3
6 2 Wr in the'tens place.

So, 62 students went on a fi % the National Museum. The answer obtained on
addition is called the sum/Ta this case, the sum is 62. The numbers that are added are
known as addendg He % and 33 are the addends.

Example 2: Add: 12
Solution: Firs e numbers one below the other as per their place values.

\O

Step 1: Add the digits in the ones place, 3 + 7 + 2 = 12 ones.
Regroup 12 ones as 1 ten and 2 ones. Write 2 in the ones
place and carry over 1 to the tens place.

3
7 Step 2: Add the digits in the tens place, 1 + 7+ 9 + 1 = 18 tens.
) 18 tens = 1 hundred and 8 tens. Write 8 in the

H

8 2

9
Q).
\— tens place and 1 in the hundreds place.
1

Thus, the sum is 182.




1. Add the following.

a. T O b. T O €. H T O d. H T O
5 9 2 2 8 4 5 6
+ 2 1 + 6 8 + 9 3 4 5
+ S /Y
e. 43+29 f. 32+ 12 +42 g. 22+55+33 h. 47 +788

Application Based Questions

2. Sanjay bought a box of crayons for 334 and a notebook
for ¥72. How much money did he spend in all?

3. Sahiba loves collecting superhero Legos. She has kept .,
45 of her favourite Legos in a big box. One morni
she keeps another 56 Legos in the box. How m % L
superhero Legos are there in the box now#®

ADDITION OF THREE-DIGiIT NUMEERS

Addition without Reg
Example 3: Madhaba le of painting from the L
Mithila region o Jharkhand. In an art show :

30 Madhubani paintings and =
320 clay pot péimtings were put on display. How ¢Sk, PO {';_; :
y > p play. g@ ‘ wav}j R

=

many ere put on display in all? ENIS s
Solutic d the number of paintings put on display in all we will add 130 and 320.
1 Step 1: Add the digits in the ones place, 0 + 0 = 0 ones.
Write 0 in the ones place.
Q 1] 3 0  Step2: Add the digits in the tens place, 3 + 2 = 5 tens.
£ 3 2 0 Write 5 in the tens place.
alela Step 3: Add the digits in the hundreds place, 1 + 3 = 4 hundreds.

Write 4 in the hundreds place.
The sum is 450. So, a total of 450 paintings were put on display at the art show.

(27



Addition with Regrouping

While adding if the number of ones, tens, or hundreds is more than 9, then we have to
regroup to add.

10 ones =1 ten 10 tens = 1 hundred 10 hundreds = 1 thousand ;
Example 4: Add 654 and 169. %

Solution: First write the numbers one below the other as per their place values. @

o Step 1: Add the digits in the ones place,4 + 9=13 o
4 TREE | DREEEREEE — > CEODEEREEER REE 1)
+ 1 6 9
3 Regroup 13 ones as 1 ten and 3 offes. Wigite 3 in the
L ones place and carry over 1 to thate ce.
Step 2: Add the digits in the tens pla 6 = 12 tens.
T

H 0 T A
+1 6 9 AT
Regroup 12 tens dshundred and 2 tens. Write 2 in the
2 3 tens pl 1
place@andyca er 1 to the hundreds place.
e hundreds place, 1 + 6 + 1 = 8 hundreds.
H T O
'6 's 4 ’

£ 1 6 9 v

8 2 3 Q i

b.

H T (0] C. H T (0]
'4 9 3 '4 %0 7
+ 2 7 2 3 8 9
7 6 5 + 1 7 6
9 7 2



Example 5: Add 456 and 739.
Solution: First write the numbers one below the other as per their place values.

Step 1: Add the digits in the ones place, 6 + 9 = 15 ones.

B O ) Regroup 15 ones as 1 ten and 5 ones. Write 5 in the
4 '5 ¢ ones place and carry over 1 to the tens place.
n 7 3 9 Step 2: Add the digits in the tens place, 1 + 5 + 3 =9 tens. %
Write 9 in the tens place. @
S Step 3: Add the digits in the hundreds place, 4 + 7 g1

»&

hundreds. Regroup 11 hundreds as 1 t @
and 1 hundred. Write 1 in the hundreds plaeg
1 in the thousands place.

Thus, the sum is 1195. N
®

Add the following. %

1. H T O 2. H T O 3. &o 4. Th
17 9 3 5 2 z)

+2 3 5 +5 4 6 ©® 4 5 3 +

Properties of Addition

(e¢)
~ O I
o NoH
~ B~ O

Adding Zero
When 0 is added to any nun e get the same number as the sum.
For example, 5 + 0 = 5, 29% 0 =29, and 0 + 478 = 478.
Order in Additi
386.
ese numbers in two different ways.
Method 2:

0 H T O Notice that the sum in both the
MY 5 I Tgi e methods is 531.
< ) The sum is not affected by the order
\u i u in which the numbers 145 and 386
5 3 1 5 3 1 are added.

Thus, the sum of two numbers remains the same in whichever order the numbers
are added.



Example 7: Add: 34 + 123 + 6

Solution: We will add the numbers in three different ways. In all the three methods, first
write the numbers as per their correct place values.

Method 1: The 3" number is added to H T O H T O
the sum of the 1 and the 2"! numbers. 1
3 4 W5 |7
Step 1: 34 + 123 = 157
+ 1 2 3
Step 2: 157 + 6 = 163 ST .
1 5 7
Method 2: The 1% number is added to H T O
the sum of the 2" and the 3" numbers. 1|l 2l e

Step 1: 123 + 6 = 129

+ 6 % +
Step 2: 129 + 34 = 163 1 2 7?{
Method 3: The 2™ number is added to Q’ o N
1

the sum of the 1*t and the 3" numbérs.

3 4 4 0
Step1: 34 + 6 =40 + 6 + 1 2 3
Step 2: 40 + 123 = 163 4 0 1 6 3

order in which th s are added is changed.

Thus, when three gr bers are added, the sum remains the same even if the

Key Prints

Fill in the blanks.

1. 154+0=__
sum of two or more numbers 5 Gt 7 = + 23
e ooy 5 -
N wni
9 4. 10 +30 + 50 = 30 + 50 +

numbers are added.




3.

a. H T o b. H# T O c. H T O d H T O
1 3 4 7 8 2 6 1 7 6 %
+3 4 2 + 5 0 1 +3 1 2 29%
+ 3 0
e. H T O f H T O g T H T O h. T T O
1 0 2 3 4 1 1 4 9 4 9
2 1 0 1 1 4 61'8& 3 3 3
+ 2 0 1 + 2 5 3 + ZSA + 2 2 2

Arrange the numbers one below the other and t e@;

a. 762+ 36+ 101 b. 133 +613+ c. 89+437+276

Apphcatlon Based Quest|ons

4.

y

d. 586 + 338 + 98 e. 301+54:-|\( f. 568 + 108 + 34

245 children and 511 adults wen rting at an
amusement park in a weekK3j ow many people went
go-karting in all, durin t ke

456 tickets fo

'nd 329 tickets for adults were sold
. Ho

atazooon S How many tickets were sold in all on Sunday?

Sa iend Disha were collecting money to buy

- pJies for an orphanage. They collected X657 in the
rst week and 3938 in the second week. How much money

they collect in all?

The Pushkar fair in Rajasthan is famous for being one

of the world’s largest cattle fairs. If there are 456 camels,
340 horses, and 180 goats at the fair, how many animals
are there in all? S@“Cg\ﬁ;ja«

=
%‘y ‘\Q




ADDITION OF FOUR-DIGIT NUMBERS

The steps for adding four-digit numbers are similar to the steps for adding two-digit and
three-digit numbers. Let us look at a few examples.

Addition without Regrouping q
Example 8: Add 4567 and 1232. < E:
Solution: First write the numbers one below the other as per their place values. @

Step 1: Add the digits in the ones place,7 +2 =9 &
L Write 9 in the ones place.
4 tens:

5 6 7 Step 2: Add the digits in the tens place, 6 + 3 =
L1 2 3 2 Write 9 in the tens place.
R Step 3: Add the digits in the hundreds pl% = 7 hundreds.

Write 7 in the hundreds place. Xr
Step 4: Add the digits in the thou e,4+1=5

thousands. Write 5 in th%l ds place.
Thus, the sum is 5799.

Addition with Regrouping °

Example 9: The amazing boat races of Kerala a%

many tourists every year. 1267 people fro bai and
1943 people from Delhi went to watch t
How many people in all went fro

aces. gar,

cities? % &

Solution: We will add 1267 anfd, 1943 t0"thd the

total number of people who w watch the boat races.
n ace, 7 + 3 = 10 ones.

Step 1: Add the digits in t
Regroup 10 ones a@ ones. Write 0 in the ones i o

H
place and carry ov tens place. —t—1
Step 2: Add the digits Wpthe tens place, 1 + 6 + 4 = 11 tens. S S I
Regroup undred and 1 ten. Write 1 in the tens + [ B
place, af over 1 to the hundreds place. 3 2 1 0
Step 3: A digits in the hundreds place, 1 + 2 + 9 =12
undgeds. Regroup 12 hundreds as 1 thousand and
undfeds. Write 2 in the hundreds place and carry
eyl ta the thousands place. @
tep 4: Add the digits in the thousands place, e 100nes=1ten
1 + 1+ 1 =3 thousands. Write 3 in the thousands place. e [0 ens = Phindred

Thus, the sum is 3210. So, a total of 3210 people went to e 10 hundreds = 1 thousand
watch the boat races from Mumbai and Delhi.

132}



Let us look at some more examples of adding four-digit numbers with regrouping.

(Watch out:

a. Th H T (0]
1 '2 '3 4
+ 3 4 9 8
4 7 3 2

b m H T o0
'4 5 %8 9
5 7 6

+ 8 8
5 2 5 3

While adding numbers with different number of digits, make
sure that the numbers are arranged correctly as per the place

values of their digits.

1. Add the following. Regroup

a. Th H T O

1 4 5 3

+ 2 1 3 6
e. 7768 + 954

2. Add the follo .
a. Th Hg \T

3

3

+ 3 4

< }; Th H T O

3 4 5

1 1 1 1

+3 0 0 O

Th H T (0]
1 2 6 8
+ 2 4 2
3 6 8 8 (%)
° 4

>

+

T (0]

Th
1
1

H
"
2
5

T
4
A

if require
b. Th T \NO Th H T O
5 6 /5 8 1 0 8
9 2 3 + 6 9 1
13 + 6436 g. 7007 + 1215
oup if required.
bh ™m H T O C Th H T O
2 8 7 2 6 4 9
4 1 0 1 1 8 7 4
+ 6 1 O + 5 4 7
f ™ H T O g. ™ H T O
1 2 3 1 9 0 O
4 0 0 O 2 7 6 5
+ 2 0 0 1 + 6 6 6

d ™ H T O
2 0 7 0

1 5 4 3
+5 4 1 9
h. ™ H T O
5 4 2 1

1 0 O

+ 1 0 0 O

N 5
: \
&

— g =

(O e Je=

N © H

oy

QS

o oo O

h. 1631 + 7358




3. Arrange the numbers one below the other and then add.
a. 2676 + 342 + 6754 b. 4225+ 3002 + 631 C. 7654 + 665 + 432
d. 208 + 8561 + 110 e. 1234 + 2345 + 4567 f. 564+ 1100 + 333

Application Based Questions

4. Mango is the national fruit of India. From a mango orchard, mangoes were %t
plucked from 2312 trees on the first day and from 3619 trees on the second &
day. From how many trees were the mangoes plucked in these two days?

5. There are 4356 people in a village. The neighbouring village has 2110 eop
than the first village. How many people are there in the second village?

6. For a three-day cricket match, 874 tickets were sold on
the first day, 1245 tickets were sold on the second day,
and 2500 tickets were sold on the third day. How many
tickets were sold in all?

7. Sam is playing the role of a wizard in a school play

He buys a cloak for 1530 and a wand for ?7
How much money did he spend in all?

FRAMING WORD PROBLEMS

Read the word problem given

Rita gave 7 storybooks to d Amit. Now she has 14 storybooks.
How many storyb st have in the beginning?
We can write an a

14 + 7
%e hgs now Storybooks Rita gave to Amit

umbers will give us the number of storybooks Rita had in the beginning.

tement for this word problem as follows.

Now 1&g us look at some examples of framing addition word problems.
. 1¢ bdys and 17 girls in a swimming class at school e

-
There are 14 boys and 17 girls in a swimming class
at school. How many students are there in the
swimming class in all?




b. 9+ 13

Several different word problems can be framed for this addition statement. One of
them is given below.

Rohan donated 9 toys and his friend David donated 13 toys for the ws
children of a village. How many toys did they donate altogether? ‘

Try framing another word problem in the space below.

@ Go to Mylnspire for (EX

Frame addition word problems for the following. é’

1. A parking lot has 23 cars and 48 motorcygles

2. 'The first half of a school basketball match 12 minutes |,
long and the second half was 15 mj

3. A writer wrote 560 words in t
380 words in the evening to fin

4. 55+18

5. 45+ 25 &
@

hart below shows all the different ways of writing 6 as the sum of two numbers.
se¥facts are called the addition facts for 6.

S
\~ 6
! ! ! + ! ! !

0+6 1+5 2+4 3+3 4+2 5+1 6+0

In the same manner, we can write the addition facts for any number.



Given below are all the addition facts for the number 10.

0+10=10 10+0=10

1+9=10 2ol=0 "Try wrltlng all the addition ':‘

2+8=10 8+2=10 ;‘ facts for the number 15. !

3+7=10 743510 How many facts did you get? %
4+6=10 6+4=10 iR %
5+5=10 @

When a number is added to itself, the sum obtained is called its double.

Adding a Number to Itself (Doubles) ’Q&

+/0/1/ 2/3/4 5 6|7 8 9 .

0 0 1 2 3 4 5 6,7 8 910

1 12|34/ 5/6|7/8 9/10[11 1+1 %

2 234 56789101112 le of 1is 2.

3 3/ 4/5/6 7|8/9/1011]12/13 rly,

4 4 567 8|9/10[/11 1213 1% @0ubleof2—2+2—4.
5 56789 10/11|12|13|14 Double of 3=3 + 3 = 6.
6 6 7 8 9 1011 12 13 14 'y Doubleof4=4+4=8
7 7181911011 12 13 14 16)17 In the same way we can find
- P Pddil the double of any number.
9 | 910 11 12 7 118 | 19

.10 111213 18 |19

Observe the doubl umber up to 10 from the addition table above.

Now, let us see e examples of finding the double of bigger numbers.
: 13+ 13 =26

2 on adding from the ones place, we get3+3=6and 1 +1=2)

ouble 0f 20 =20 + 20 =40 (since0 +0=0and 2 + 2 =4)
otlble of 43 =43 + 43 =86 (since3+3=6and 4 + 4 =8)

\CD
Find the double of the following numbers.
1. 1 2. 24 3. 50

135}



Addition by Breaking up Numbers

Let us learn how we can add numbers quickly by breaking them up into tens and ones.

Example 10: Sahil gave 17 biscuits to a hungry stray dog in one week.
LU 5&

In the next week, he gave 21 biscuits to the dog. How many biscuits ‘
did he give to the dog in two weeks? &

Solution: To find the number of biscuits Sahil gave to the dog in two
weeks we will have to add 17 and 21.

We can break up 17 as 10 + 7 and 21 as 20 + 1.
Now let us see how we can add them.

17 + 21 =(10)+ 7 +20)+ 1 Step 1: Add 10 and 20.
=30 +@r@ Step 2: Add 7 and 1.
=30+38 Step 3: Finally, add the s r@n
= 38 %

So, Sahil gave 38 biscuits to the stray dog in two Wee

Can these numbers be added in another ways

Yes! We can add them by breaking up any '\
. 6 Add by breaking up the numbers

number into tens and ones as well. .
into tens and ones.
17+21:@20_+@ 1. 25+ 34 2. 16+ 42
3. 55+ 35 4. 13 + 66
=18 + 20
=38
Addition by M i.@&
We know that (0, ), (2,8),(3,7), (4, 6),and (5, 5) are the pairs of numbers which

add up to 10? se these pairs of numbers to add quickly. Let us see how.
Add: 7 + 8

add these two numbers let us split 8 as 3 + 5, to make a 10.

7 + 7+3+5 (Since7 + 3 =10, we split
s 8 A <orcut
N0 +5 as3 +5.)
Remember your doubles!
=15 7+7=14

8 is one more than 7. So, 7 + 8 = 15.

Similarly, 6 is 1 less than 7.
7 instead of 8. Do you get the same answer? So, 7 +}(/3 ~ 13

Try solving the same question by splitting

37



Example 12: Add: 7 + 4 + 3 ' Example 13: Add: 16 + 5

1

Solution: 7 + 3 =10, so we will first E Solution: Let us split 5 as 4 + 1 to make

rearrange the numbers and then add. . addition easy and then add.

7+4+3=7+3+4  16+5=16+4+1

¥ |

] =20 +1 %
1 ,
1

=10+4

(®) Go to Mylnspire for

) . 25.. . &%\

+ +
+ +
+ +
+ Q +
4. Find the double. Use pairs of 10 to add.
a. 12 b. 44 a. 6+7 b. 28+5
6. Add the following by brea into tens and ones.
a. 15+23 & c. 62+38 d. 54+71
Let’s Review e

er’you have completed the chapter. Colour 1 to 5 to show how well

and a topic. (5 = Very well; 1 = Not at all)
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@ Go to Mylnspire for . @ @ %o§

Q%

a.

1. Add the following. Regroup if needed. @
T O b. # T O c. H T O d. (&

2 9 6 0 O 3 0 5 6 0

+ 4 3 +2 5 6 +4 2 9 + ) 9 9

Th H T O f ™m H T O g H T ¢ & T H T O

2 4 2 4 1 2 9 0 4 5%\ 4 6 0 0

4 2 4 2 35 9 g 23 0 0

+1 0 1 O +5 0 8 1 4—&‘2 ) 3 +1 5 7 9

a.

C.

iy e <QPLYyy, pYS,
Level Up IREURCHIK &

'Y
2. Fill in the boxes using addition propertief: \

456+500=B+456 913+0=[j
B+2oo=200+10 d.O+B:67

1. A numberisl
2. Solve the follo% problems.
. and’Sujan like collecting Pokemon cards. Joyce has 345 Pokemon cards in

\&

C.

across India. To mark this day, the people of a society

rganised a cleaning drive. The drive began with 987 people
d later another 259 people joined the drive. How many s,
o . . . . . = =

people participated in the cleaning drive in total? %

There were 6723 books in a school library. 2018 more books // /
were purchased and kept in the library. How many books
does the library have now?




3. Fill in the missing digits.

+ 8 + 1 2 + 1 0 + 1 0
9 8 6 7 1 4 5 4 2 5 8 6 9 8

1. The hilly state of Himachal Pradesh is famous for its apples. Several oth
also grown here. A farm near Shimla, the capital of Himachal Pradesh, hasyglum,
pear, and apple trees. There are 2345 plum trees. The number of pear yrees arg234
more than the number of plum trees. The number of apple trees arg128 more &@Ejﬁ

than the number of pear trees. Find the total number of treeg or% 3

2. Add down and across. Then add the sums. What do you fi Nﬁi
for you.
C.

ACROSS &
a. > b. @

45 | 37 | 82 23.37

60 54 114 62 N 300 500
105 91 |196 Q‘Q
Y

HOTS Questions Sy, @\.UAr,,p 3 .
ey & Ak .
CENTURY SKILLS
S

=

. L
as Deen done

100 200

Z 30U

eryday lives, whether it is to find the total money
cery store or to find the total runs scored by a cricketer

needed to buy itemSigt 3%
out and discuss some areas in class where you use addition

during a match, 1hin
in your ge ve

sician. He recently posted a video of his new song
‘. 674 people watched the video in the first week
its release. Another 562 people watched the video in

the Second week of its release. How many people watched
e video in all in two weeks?
. Work with your partner to find the total number of students in

Class 3 of your school. First, identify together and find all the
information you will need to solve this question.




